Dawson College: Calculus IT (SCIENCE): 201-NYB-05-503003: Winter 2013
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Student ID:

Quiz 7

This quiz is graded out of 10 marks. No books, calculators, notes or cell phones are allowed. You must show all your work, the cor-
rect answer is worth 1 mark the remaining marks are given for the work. If you need more space for your answer use the back of the page.

Question 1. (5 marks) §6.3 #20 Evaluate the indefinite integral.
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Question 2. (5 marks) §6.6 #32 Evaluate the definite integral. ‘ - | ' o,
' - v
/ll_r_lfdx -~ hW\ l‘lx d¥ = llm [wv‘la‘ Sw
- v (/3
] \/_ i a-—jo-* 5 X a'-bo-r ]
p -;i-‘f/ chovrbmuifb - | - | |
mfm w=lnx dws Ldx = lmn ):2\/3(' '“":L S .u/'x';_dy
afb Xz 6 L ob—)0+ )
V:RI/JT AV:V-L—AX (-"‘ 0..‘3 ' l AX
Yz um ., |2/ -A/alne - .').S =
o—>0 CAAS ,} N
o \.'(" (Y}
{
; 'lVVl :.I_l_pl.c:'. - 2\/3?]
a—0" | _L N
3 ’,
- hm _;/q/ + L{ ~ ]
=, 2)



